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Note ~— ()  Answers may be written either in English or in Hindi; )
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Attempt any Five questions. |
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What is the production possibility cunl'e- ? Expllain how.('his
curve illustrates three concepts scar.cily, choice and

opportunity cosi and also show the effect of economic
growth on this curve. ) 15
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Distinguish between income elasticit'y and pr»ice N
elasticity of___demand.‘ : : ' .5
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" Why is demand, and supply of rhaﬁy' products likely

10 be more elastic in the long-run than in-the short-
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Why is elasticity differem at different points

on a negatively stoped straight line demand

curves ? -5
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-Exp!a'in the taw of dé,mand and show how it is based

6n law of -diminishing margina) utility ? 10
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Wﬁat is- the consumer surplus and how is_ it fel'atgd
to utility 7 o : 5
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Explain the consumer’s equilibrium with the help. of

indifference curve and budget line. How will be a change

in his income affect in his eguilibeium ? - 15
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" Explain- the law of diminishing returns. 5

Wmaﬁﬁmﬁmaﬂﬁm

me the: fo[lowmu tab!e calculatc 1otal vanable cost,
average variable cost, average fixed cost, average total
cost and marginal cost from the data as given ™
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Output - | Total Cost B
.(Unils) o (Rs.)
-0 ' 100
1 120
2 136
3 L s |
4 164
5 195
6 352
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What is the-pri_ce disériminalion-"? -C%m a mono_polisﬁ ~inlr_:rease
his p-ll'oﬁts by adopting the policj—""'of.[.)rice discrimination 7
Is pri;e _discrimination juséiﬁable ? ‘Explain.‘- - 15
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Expla-in the various circumlstanges “under which m'ar'ke_t .fai!s.
1o allocate resources efficiently. . T
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Write short notes on any mwo of the foilowing : 7'%,7% -
() Marginai procfuéti_vity theory
(b Barriers to entry of new firms intd industries

’ ’ '

(¢) - Effect of changes in C(‘)sts'. of produ_ction. ’
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